Matching topic sentences and supporting detail (A)

Match these topic sentences and supporting detail and them put them into the correct order.

	Title: Whales and their environment

	However the environment whales live in has posed increasing challenges to the survival of the right whales over the last two centuries.

	All whales have strong tails, with two flukes on the sides, instead of legs. They also have flippers. Whale skeletons show that inside the flipper whales have five fingers that look like a human hand. 

	Both categories of whales, toothed and baleen, are adapted to their environment.

	A further adaptation whales have developed are mechanisms for controlling heat loss.

	Scientists think that once, very long ago, the whales had arms and legs but, over time, whales have adapted to life in water.

	However, despite these adaptations, the whale’s survival is not guaranteed.

	They have a very thick layer of blubber of up to 40 or 50 centimetres and this keeps the heat in by preventing it from escaping to the outside. Additionally, the whale's body is compact with no arms or legs so there is less surface area. This means that more heat can be kept inside the whales’ body. A further mechanism for controlling heat loss is that whales have decreased breathing rates so less heat is lost when they breathe out.

	The population of many whale species has declined over a large number of years. Although we do not have exact population figures from the past it is known that commercial whaling has greatly affected whale numbers. There are four main reasons why the population of many whale species is not increasing. Firstly, whales are injured and die when they collide with ships using the same routes. Secondly, the whales get caught in certain types of fishing gear. In addition, coastal marine habitats have been polluted as more and more people build houses and live on the coast. Whales are also disturbed by ocean vessels and by noise pollution. However probably the most important cause of population decline has been commercial whaling.


Answers (A)

Both categories of whales, toothed and baleen, are adapted to their environment.

However the environment whales live in has posed increasing challenges to the survival of the right whales over the last two centuries.

Scientists think that once, very long ago, the whales had arms and legs but, over time, whales have adapted to life in water. All whales have strong tails, with two flukes on the sides, instead of the legs. They also have flippers. Whale skeletons show that, inside the flipper, whales have five fingers that look like a human hand. 

A further adaptation whales have developed are mechanisms for controlling heat loss. They have a very thick layer of blubber, up to 40 or 50 centimetres and this keeps the heat in and prevents it from escaping to the outside. Additionally, the whale's body is compact with no arms or legs so there is less surface area. This means that more heat can be kept inside the whales’ body. A further mechanism for controlling heat loss is that, whales have decreased breathing rates so less heat is lost when they breathe out.

However, despite these adaptations, the whale’s survival is not guaranteed. 

The population of many whale species has declined over a large number of years. Although we do not have exact population figures from the past it is known that commercial whaling has greatly affected whale numbers. There are four main reasons why the population of many whale species isn't increasing. Firstly, whales are injured and die when they collide with ships using the same routes. Secondly, the whales get caught in certain types of fishing gear. In addition coastal marine habitats have been polluted as more and more people build houses and live on the coast. Whales are also disturbed by ocean vessels and by noise pollution. However probably the most important cause of population decline has been commercial whaling.

